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From the following trial balance of Shri Satish Kumar Gupta, prepare final accounts for the year
ending 317 March, 2013 :

| Debit Balances (%) | Credit Balances (3) |
i Opening Stock (1-4-2012) 6.422 '
| Carriage 608
Rent Reccived . R40
Discount Il . 360
Sales i 76,118 |
Commission _ 20
Purchases 67.650
Bus. Building & Furniture 6,000
Salary and Insurance 1,000
Bank Balance 24,100
Goods Returns 250 | 90
| Bad dehis 400
' Sundry Debtors & Creditors 8,000 2,442
| Local Taxes 1,300
| Wagces 4,680
i Bills Payable 3,080
Reserve for doubtful debts | 390
Capital 37.000
o 1,20,470 ~1,20470

Make the following adjustments also

Outstanding Wages T 1750, Rent accrued ¥ 100, Reserve 5% for bad and doubtful debts.

Depreciate 5% on building & furniture. Interest on capital due ¥ 810. Closing Stock was valued at

Z 9614,
(%) 9@ FAME faavr § o w skt ¥ 7 A9 99 G urags @ 9ut 4 aR

(@)

® T BRI BN E ? 10
What do you mean by Bank Reconciliation Statement ? What are the reasons for the
difference in the balances of Cash-Book and Pass-Book ?
Prefafed el @t 3% WHEE RaRer a0 7o URigE @ AaR §0
SERCIFE . 10
(i) Rps 98 B ITER d6 9N % 17,530
(i) =% 9 fFrifa By W wg e B R el d5 F w9

< 3,960

=0
(lll}g@ﬁﬁa@a%%mﬁﬁ”ﬁmwaﬁﬂﬁﬂﬂ?wﬁgq % 5,200
(iv) 9% gR1 TES W AR T YT AT AR, A SEET T J

HIg [AAr A8 & ¥ 2,200
(v) U UED gNT g6 7 9 8 oA fay % 3,400
(vi) & =g o 9 w4 fde wR Ry T 100
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I'rom the following information. preparc a Bank Reconciliation Statement and mention the
Bank balance as per Bank Pass Book :

(i)  Bank balance as per cash book T 17,530
(i} Cheques issued but not yet presented to bank for payment T 3,960
{iii) Cheques deposited for collection but not yet callected ¥ 5,200
(iv) Income Tax paid by bank on behalf of customer, but the bank did not give
this information 2200
(vl A customer dircctly deposited in Bank T 3,400
(vi) Bank charges debited to Bank A/C < 100
3. (@) fefEy, FafaiEe sgs g § ar e i%5=5
(i) fafra—uz @ aws Tl s 2| (¥ / are)
(i) ¥ UPR & UfaS—ud R fThe A Aevas Ben &1 (9o / are)
Gii) RFFa—fars @ Doy sfrart 58 8w (|e / 3rey)
(iv) TRTST—9= ¥ A w61 weeied ufosT 2ei E | (¥ / arere)
(v) TafFma-fos fEa od sofEa oo gar 2 (T / ae)
state whether the following statcments are true or falsc
(i)  The drawer ol Bill of Exchange is a debtor, ( True / False )
(11} Onall types of Promissory Notes, affixing ticket is compulsory.  ( True/ False )
(iti) Acceptance of Bill of Exchange is not compulsory. ( True / False)
(iv) There is unconditional promise for payment in Promissory Note.  ( True / False )
(v} Bill of Exchange is written and unconditional document. ( True / False )
(@) - ik gfisr—uz 4 s g9 5

nfferentiate between Bill of Exchange and Promissory Note.

(M) SETETE W T 5000 @1 Al 1 HTY 2012 @I AT D A 997 3N O A 9 ey
&1 Uh Aoz fomar| wEg 3 99 WioR o oery & el g o 3
Sl 57 fAus &1 &y *FER WY & A7 daH w7 A grem @ Rl w®
fau= &1 e 81 T |

SITETE], VM 3R SR B GRIh] § aeid o I | 10
On March [, 2012 Jagdish sold goods to Rawat for ¥ 5000, and drew a bill of 3 months
duration. Rawat accepting the bill, returned to Jagdish. Jagdish on the same very day
endorsed the bill in the name of his creditor Jagdeep, On the due date the bill was paid.
Pass necessary entries in the books of Jagdish. Rawat and Jagdeep.
4. (@) e ol el fafe 10
(i) efoqwe ergfadi
(ii) o= @ argfedr
(iii) FZTa® argfef
(iv) wfear § Ffedt
Give short notes on the following :
(i) Compensating crrors
(i) Errors of Onunission
(iii) Errors of Principle
(iv) Errors of Posting
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(@ fefareg agfadd @ S 3w @ i o od s | 2x5=10
() #AET @ @ # T 512 Biee TN B WM W I @A H T 215 sfde B
el |
(i) T 2000 @ 7w P TH W o B GRS H (BT TAT
(iii) fsra amoRit @7 WIS T 200 FA feran a7
(iv) T 344 ) RaN &1 orar @t @ A T 434 foran |
(v) WM UR % 400 BT SIRAT AT USR] ofl 8 Wi H TEl fha e

Give necessary journal entries [or the rectification of under mentioned errors :

(i) Instead of crediting ¥ 512 in Mohan’s A/c, a sum of ¥ 215 was debited to his Alc.
(ii) Machine valued ¥ 2000 was purchased but entry was made in purchase book.

(iii) A total sum of T 200 was shown less in sales returns A/c.

(iv) Sale of ¥ 344 was entered in Sales Afc as X 434

(v) A machine was depreciated at ¥ 400 but it was not entered in Depreciation Account,

5. (@) BRI Y @ amwig & ? & @ YW SR BT guiE i | 5
What is meant by Depreciation ? Explain the main reasons of depreciation.
(@) ol fow vy v HErTa 9y ugia J ey goensy | 5

Differentiate between Fixed Instalment Method and Diminishing Balance Method.

(M ud @ 7 1 oedad 2000 @ T 20,000 B b HIA @IS | BT AT
Sfias 3 af ar| 799 @1 31 ¥y 2011 &1 T s000 A @9 fRur| wAA 99
ugfl @ IR 99 WX 20% &R @l @1 Mg fon) 3 ad &1 #EE @ dar
HIfaTY | 10
A businessman purchased a machine on 17 January 2009 for T 20,000, Its expected life was
3 years. On 31" December 2011 the machine was sold for I 5000. It is decided to
depreciate the machine at 20% on diminishing balance method. Prepare Machine Account
for 3 years.

e e e A
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